
 

BCIS Home   Log In   User Registration    Hot Topics   Submit Surcharge   Stats & Facts   Publications   Contact Us   BCIS Site Map   Links   Search     

Product Approval
USER: Public User

 
Product Approval Menu > Product or Application Search > Application List > Application Detail

 
FL # FL19971-R7
Application Type Revision
Code Version 2023
Application Status Approved

 
Comments

Archived

 
Product Manufacturer Andersen Corporation
Address/Phone/Email 100 Fourth Avenue North

Bayport, MN 55003
(651) 264-5308
alan.barstad@AndersenCorp.com

 
Authorized Signature Alan Barstad

alan.barstad@AndersenCorp.com

 
Technical Representative
Address/Phone/Email

 
Quality Assurance Representative Alan Barstad
Address/Phone/Email 100 Fourth Avenue North

Bayport, MN 55003
(651) 264-5308
abarstad@andersencorp.com

 
Category Windows
Subcategory Mullions

 
Compliance Method Evaluation Report from a Florida Registered Architect or a Licensed Florida

Professional Engineer
 Evaluation Report - Hardcopy Received

 
Florida Engineer or Architect Name who developed
the Evaluation Report

Hermes F. Norero, P.E.

Florida License PE-73778
Quality Assurance Entity Window and Door Manufacturers Association-QA
Quality Assurance Contract Expiration Date 12/16/2030
Validated By Zachary R. Priest, P.E.

  Validation Checklist - Hardcopy Received

 
Certificate of Independence FL19971_R7_COI_COI Andersen Corporation SS 2024-04-30.pdf

 
Referenced Standard and Year (of Standard) Standard Year

AAMA 450 2010
AAMA 450 2020
ASTM E283 2004
ASTM E330 2014
ASTM E331 2000
TAS 201 1994
TAS 202 1994
TAS 203 1994

1/17/25, 10:51 AM Florida Building Code Online

https://www.floridabuilding.org/pr/pr_app_dtl.aspx?param=wGEVXQwtDqvKboN0elVMsksR8kqKPxO8Crn%2bt7KZa8tkhBd5bft12Q%3d%3d 1/3

http://www.myfloridalicense.com/dbpr/
http://www.myfloridalicense.com/dbpr/
http://www.myflorida.com/
http://www.myflorida.com/
http://www.myfloridalicense.com/dbpr/
http://www.myfloridalicense.com/dbpr/
https://floridabuilding.org/c/c_about.aspx
https://floridabuilding.org/c/c_about.aspx
http://www.myfloridalicense.com/dbpr/divisions.html
http://www.myfloridalicense.com/dbpr/divisions.html
https://floridabuilding.org/c/c_about.aspx
https://floridabuilding.org/c/c_about.aspx
http://www.myfloridalicense.com/dbpr/
http://www.myfloridalicense.com/dbpr/
http://www.myfloridalicense.com/DBPR/about-us/departments-secretary/
http://www.myfloridalicense.com/DBPR/about-us/departments-secretary/
https://www.floridabuilding.org/c/default.aspx
javascript:__doPostBack('public_layout_top$public_top_menu$lnkLogin','')
https://www.floridabuilding.org/c/c_user_regi.aspx
https://www.floridabuilding.org/c/c_hottopics.aspx
https://www.floridabuilding.org/sc/sc_default.aspx
https://www.floridabuilding.org/c/c_under_construction.aspx
https://www.floridabuilding.org/c/c_publications.aspx
https://www.floridabuilding.org/c/c_about.aspx
https://www.floridabuilding.org/c/c_under_construction.aspx
https://www.floridabuilding.org/c/c_links.aspx
https://www.floridabuilding.org/c/c_under_construction.aspx
https://www.floridabuilding.org/pr/pr_default.aspx
https://www.floridabuilding.org/pr/pr_default.aspx
https://www.floridabuilding.org/pr/pr_default.aspx
https://www.floridabuilding.org/pr/pr_app_srch.aspx
https://www.floridabuilding.org/pr/pr_app_lst.aspx
https://www.floridabuilding.org/upload/PR_Independence/FL19971_R7_COI_COI%20Andersen%20Corporation%20SS%202024-04-30.pdf


 
Equivalence of Product Standards
Certified By

 
Sections from the Code

 

 
 
Product Approval Method Method 1 Option D

 
Date Submitted 04/30/2024
Date Validated 05/02/2024
Date Pending FBC Approval 05/07/2024
Date Approved 06/18/2024

 
Summary of Products

FL # Model, Number or Name Description

19971.1 Renewal by Andersen Daylight
Mullion (Non-HVHZ) (Non-Impact)

Renewal by Andersen Daylight Mullion (Non-HVHZ) (Non-
Impact)

Limits of Use
 Approved for use in HVHZ: No
 Approved for use outside HVHZ: Yes
 Impact Resistant: No
 Design Pressure: N/A
 Other: See Installation Instructions and Product Evaluation
Report for allowable design pressures, sizes, configurations,
installation requirements and limits of use.

Installation Instructions
 FL19971_R7_II_AWD333 SS 2024-05-02.pdf
 Verified By: Hermes F. Norero Florida P.E. 73778
 Created by Independent Third Party: Yes
Evaluation Reports
 FL19971_R7_AE_PER8482 SS 2024-05-02.pdf
 Created by Independent Third Party: Yes

19971.2 Renewal by Andersen High
Performance Mullion (HVHZ)
(Impact)

Fiberglass Mullion

Limits of Use
 Approved for use in HVHZ: Yes
 Approved for use outside HVHZ: Yes
 Impact Resistant: Yes
 Design Pressure: N/A
 Other: See Installation Instructions and Product Evaluation
Report for allowable design pressures, sizes, configurations,
installation requirements and limits of use.

Installation Instructions
 FL19971_R7_II_AWD290 SS 2021-12-17.pdf
 Verified By: Hermes F. Norero, P.E. Florida P.E. 73778
 Created by Independent Third Party: Yes
Evaluation Reports
 FL19971_R7_AE_PER7603 SS 2021-12-17.pdf
 Created by Independent Third Party: Yes

19971.3 Renewal by Andersen High
Performance Mullion (WZ3) (Impact)

Fiberglass Mullion

Limits of Use
 Approved for use in HVHZ: No
 Approved for use outside HVHZ: Yes
 Impact Resistant: Yes
 Design Pressure: N/A
 Other: See Installation Instructions and Product Evaluation
Report for allowable design pressures, sizes, configurations,
installation requirements and limits of use.

Installation Instructions
 FL19971_R7_II_AWD295 SS 2021-12-17.pdf
 Verified By: Hermes F. Norero, P.E. Florida P.E. 73778
 Created by Independent Third Party: Yes
Evaluation Reports
 FL19971_R7_AE_PER7810 SS 2021-12-17.pdf
 Created by Independent Third Party: Yes

19971.4 Renewal by Andersen Mullion
System (Non-HVHZ) (Non-Impact)

Fiberglass Mullion

Limits of Use
 Approved for use in HVHZ: No
 Approved for use outside HVHZ: Yes
 Impact Resistant: No
 Design Pressure: N/A
 Other: See Installation Instructions and Product Evaluation
Report for allowable design pressures, sizes, configurations,
installation requirements and limits of use.

Installation Instructions
 FL19971_R7_II_AWD142 SS 2023-06-19.pdf
 Verified By: Hermes F. Norero, P.E. Florida P.E. 73778
 Created by Independent Third Party: Yes
Evaluation Reports
 FL19971_R7_AE_PER5881 SS 2023-06-19.pdf
 Created by Independent Third Party: Yes

 
Back    Next

 
Contact Us :: 2601 Blair Stone Road, Tallahassee FL 32399 Phone: 850-487-1824

The State of Florida is an AA/EEO employer. Copyright 2007-2013 State of Florida. :: Privacy Statement :: Accessibility Statement :: Refund Statement

Under Florida law, email addresses are public records. If you do not want your e-mail address released in response to a public-records request, do not send electronic
mail to this entity. Instead, contact the office by phone or by traditional mail. If you have any questions, please contact 850.487.1395. *Pursuant to Section

1/17/25, 10:51 AM Florida Building Code Online

https://www.floridabuilding.org/pr/pr_app_dtl.aspx?param=wGEVXQwtDqvKboN0elVMsksR8kqKPxO8Crn%2bt7KZa8tkhBd5bft12Q%3d%3d 2/3

https://www.floridabuilding.org/upload/PR_Instl_Docs/FL19971_R7_II_AWD333%20SS%202024-05-02.pdf
https://www.floridabuilding.org/upload/PR_Tech_Docs/FL19971_R7_AE_PER8482%20SS%202024-05-02.pdf
https://www.floridabuilding.org/upload/PR_Instl_Docs/FL19971_R7_II_AWD290%20SS%202021-12-17.pdf
https://www.floridabuilding.org/upload/PR_Tech_Docs/FL19971_R7_AE_PER7603%20SS%202021-12-17.pdf
https://www.floridabuilding.org/upload/PR_Instl_Docs/FL19971_R7_II_AWD295%20SS%202021-12-17.pdf
https://www.floridabuilding.org/upload/PR_Tech_Docs/FL19971_R7_AE_PER7810%20SS%202021-12-17.pdf
https://www.floridabuilding.org/upload/PR_Instl_Docs/FL19971_R7_II_AWD142%20SS%202023-06-19.pdf
https://www.floridabuilding.org/upload/PR_Tech_Docs/FL19971_R7_AE_PER5881%20SS%202023-06-19.pdf
javascript:__doPostBack('lnkBack','')
javascript:__doPostBack('lnkNext','')
http://www.myfloridalicense.com/dbpr/contact-us/
https://www.google.com/maps/place/2601+Blair+Stone+Rd,+Tallahassee,+FL+32399/@30.425336,-84.2509937,17z/data=!3m1!4b1!4m5!3m4!1s0x88ec5fbfe2e0a4f1:0x3a7bdf0c3a81e7e4!8m2!3d30.425336!4d-84.248805
https://www.google.com/maps/place/2601+Blair+Stone+Rd,+Tallahassee,+FL+32399/@30.425336,-84.2509937,17z/data=!3m1!4b1!4m5!3m4!1s0x88ec5fbfe2e0a4f1:0x3a7bdf0c3a81e7e4!8m2!3d30.425336!4d-84.248805
http://www.myflorida.com/myflorida/copyright.html
http://www.myflorida.com/myflorida/privacy.html
http://www.myflorida.com/myflorida/accessibility.html
https://www.floridabuilding.org/c/c_refund_stmt.aspx
Darnell Hatcher
Highlight
19971.4 Renewal by Andersen Mullion
System (Non-HVHZ) (Non-Impact)
Fiberglass Mullion
Limits of Use
 Approved for use in HVHZ: No
 Approved for use outside HVHZ: Yes
 Impact Resistant: No
 Design Pressure: N/A
 Other: See Installation Instructions and Product Evaluation
Report for allowable design pressures, sizes, configurations,
installation requirements and limits of use.
Installation Instructions
 FL19971_R7_II_AWD142 SS 2023-06-19.pdf
 Verified By: Hermes F. Norero, P.E. Florida P.E. 73778
 Created by Independent Third Party: Yes
Evaluation Reports
 FL19971_R7_AE_PER5881 SS 2023-06-19.pdf
 Created by Independent Third Party: Yes



455.275(1), Florida Statutes, effective October 1, 2012, licensees licensed under Chapter 455, F.S. must provide the Department with an email address if they have
one. The emails provided may be used for official communication with the licensee. However email addresses are public record. If you do not wish to supply a

personal address, please provide the Department with an email address which can be made available to the public. To determine if you are a licensee under Chapter
455, F.S., please click here .

Product Approval Accepts:

    

1/17/25, 10:51 AM Florida Building Code Online

https://www.floridabuilding.org/pr/pr_app_dtl.aspx?param=wGEVXQwtDqvKboN0elVMsksR8kqKPxO8Crn%2bt7KZa8tkhBd5bft12Q%3d%3d 3/3

http://www.myfloridalicense.com/dbpr/DBPR_Chapter455_FloridaStatutes.html
https://www.securitymetrics.com/site_certificate?id=125880&tk=8fe03cc098be08b8e5f5f3ff4e8f87ae
https://www.securitymetrics.com/site_certificate?id=125880&tk=8fe03cc098be08b8e5f5f3ff4e8f87ae


ANDERSEN CORPORATION
RENEWAL by ANDERSEN MULLION SYSTEM

(NON-HVHZ)(NON-IMPACT)
GENERAL NOTES:

1. THE PRODUCT SHOWN HEREIN IS DESIGNED AND
MANUFACTURED TO COMPLY WITH THE CURRENT FLORIDA
BUILDING CODE (FBC), EXCLUDING HVHZ. ALL PRODUCTS
UNDER THE SCOPE OF THIS DOCUMENT HAVE BEEN
EVALUATED ACCORDING TO THE FOLLOWING:
· AAMA 450-10
· ASTM E330-14
· ASTM E331-00 (09)

2. ADEQUACY OF THE EXISTING STRUCTURAL
CONCRETE/MASONRY, 2X AND METAL STUD FRAMING AS A
MAIN WIND FORCE RESISTING SYSTEM CAPABLE OF
WITHSTANDING AND TRANSFERRING APPLIED PRODUCT
LOADS TO THE FOUNDATION IS THE RESPONSIBILITY OF THE
ENGINEER OR ARCHITECT OF RECORD FOR THE PROJECT OF
INSTALLATION.

3. 1X AND 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND
ANCHORED TO PROPERLY TRANSFER ALL LOADS TO THE
STRUCTURE.  BUCK DESIGN AND INSTALLATION IS THE
RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF RECORD
FOR THE PROJECT OF INSTALLATION.

4. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE.  IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SPECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT IN NON-HVHZ
AREAS. IN HVHZ AREAS, ONE TIME PRODUCT APPROVAL TO
BE OBTAINED FROM MIAMI-DADE PERA OR AHJ.

5. APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIRED TO
PROTECT THIS PRODUCT IN AREAS REQUIRING IMPACT
RESISTANCE.

6. MULLION MATERIAL: FIBERGLASS

7. CUSTOM SIZES AVAILABLE UPON REQUEST. CUSTOM DESIGN
PRESSURE WILL BE ASSIGNED EQUAL TO NEXT LARGER
STANDARD SIZE.

8. INTERIOR TRIM OPTIONS MAY VARY IN ACCORDANCE WITH
ANDERSEN'S RECOMMENDATIONS.

9. MULL ASSEMBLIES ARE QUALIFIED FOR TWO OR MORE UNITS
PER OPENING IN THE FOLLOWING CONFIGURATION:
· "ONE WAY" - RIBBON OR STACKED MULLIONS

INSTALLATION NOTES:

1. ONE (1) INSTALLATION ANCHOR IS REQUIRED AT EACH ANCHOR
LOCATION SHOWN, UNLESS OTHERWISE STATED.

2. THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE MINIMUM
NUMBER OF ANCHORS TO BE USED FOR PRODUCT INSTALLATION.

3. INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A TOLERANCE
OF ±1/2 INCH OF THE DEPICTED LOCATION IN THE ANCHOR LAYOUT
DETAIL (I.E., WITHOUT CONSIDERATION OF TOLERANCES).
TOLERANCES ARE NOT CUMULATIVE FROM ONE INSTALLATION
ANCHOR TO THE NEXT.

4. FOR INSTALLATION  THROUGH 2X BUCK USE #10 FH WOOD SCREWS.
INSTALLATION SHALL CONFORM TO THE FOLLOWING REQUIREMENTS:
4.1. MINIMUM EMBEDMENT OF 1-1/2 INCH. INTO WOOD
4.2. MINIMUM EDGE DISTANCE OF 3/4 INCH.
4.3. MINIMUM O.C. DISTANCE OF 3/4 INCH.

5. FOR INSTALLATION  THROUGH METAL FRAME USE #10 FH
SELF-DRILLING OR SELF-TAPPING, SAE GR. 5, TYPE SCREWS.
INSTALLATION SHALL CONFORM TO THE FOLLOWING REQUIREMENTS.
5.1. THREE (3) THREADS MINIMUM PENETRATION BEYOND METAL

FRAME WALL.
5.2. MINIMUM EDGE DISTANCE OF 1/2 INCH.
5.3. MINIMUM O.C. DISTANCE OF 3/4 INCH.

6. FOR INSTALLATION  INTO CONCRETE/MASONRY SUBSTRATES USE 1/4
INCH. FH ITW TAPCON ANCHORS. INSTALLATION SHALL CONFORM TO
THE FOLLOWING REQUIREMENTS.
6.1. MINIMUM EMBEDMENT OF 1-3/4 INCH. INTO SUBSTRATE
6.2. MINIMUM EDGE DISTANCE OF 2 INCH.
6.3. MINIMUM O.C. DISTANCE OF 3 INCH.

7. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE 1X BUCKING,
SHEATHING, & WALL FINISHES, INCLUDING BUT NOT LIMITED TO
STUCCO, FOAM, BRICK VENEER, AND SIDING.

8. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE
MADE OF CORROSION RESISTANT MATERIAL OR HAVE A CORROSION
RESISTANT COATING.

9. INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH
ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS, AND
ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS LESS
THAN THE   MINIMUM STRENGTH SPECIFIED BY THE ANCHOR
MANUFACTURER.

10. INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE BASED
ON SUBSTRATE MATERIALS WITH THE FOLLOWING PROPERTIES:

A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.55.
B. CONCRETE -MINIMUM COMPRESSIVE STRENGTH OF  3000 PSI.
C. GROUT-FILLED CMU- UNIT STRENGTH CONFORMS TO ASTM C-90

WITH MINIMUM COMPRESSIVE STRENGTH OF 2000 PSI AND
GROUT CONFORMS TO ASTM C 476, MINIMUM GROUT
COMPRESSIVE STRENGTH OF 2000 PSI.

D. HOLLOW BLOCK CMU - UNIT STRENGTH CONFORMS TO ASTM
C-90 WITH MINIMUM COMPRESSIVE STRENGTH OF 2000 PSI.

E. STEEL - MINIMUM WALL THICKNESS OF 54 MILS (16 GA.) WHEN
THROUGH GUSSET INSTALLATION.

F. ALUMINUM - 1/8 INCH. MINIMUM THICKNESS (6063-T5)

SHEET:
DWG. #:

1
AWD142

   
BU

IL
DI

NG
 D

RO
PS

, I
NC

.
39

8 
E.

 D
AN

IA
 B

EA
CH

 B
LV

D.
, S

TE
. 3

38
DA

NI
A 

BE
AC

H,
 F

L 3
30

04
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

OF

SCALE: NTS
HR

DWG. BY:
DATE: 08.15.17

CHK. BY:
HFN

REMARKS

TI
TL

E:

BY DATE

THIS DOCUMENT IS THE PROPERTY OF BUILDING DROPS, INC.
AND SHALL NOT BE REPRODUCED IN WHOLE OR PART

WITHOUT WRITTEN CONSENT OF BUILDING DROPS, INC.
ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER

MARKINGS TO THIS DOCUMENT ARE NOT PERMITTED AND
INVALIDATE OUR CERTIFICATION.

RE
NE

W
AL

 b
y 

AN
DE

RS
EN

M
UL

LI
O

N 
SY

ST
EM

(N
O

N-
HV

HZ
)(N

O
N-

IM
PA

CT
)

3/
17

/2
02

3 
10

:4
7 

AM
s:\

pr
oj

ec
ts

\r
en

ew
al

 b
y 

an
de

rs
en

 o
f c

en
tr

al
 fl

or
id

a\
cc

-2
3-

03
11

 - 
co

de
 ch

an
ge

 - 
fb

c s
ub

m
itt

al
 (8

th
 e

di
tio

n)
 co

de
 ch

an
ge

\d
w

gs
\r

ev
isi

on
s\

fl1
99

71
\a

w
d1

42
.d

w
g

8

FL19971
FL #:

PR
EP

AR
ED

 B
Y:

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150   FX: (651) 264-5485

6TH FBC CODE CHANGE HR 8.15.17
ASSEMBLIES ADDITION HR 3.9.18
8TH FBC CODE CHANGE SH 3.17.23

GE
NE

RA
L A

ND
IN

ST
AL

LA
TI

ON
 N

OT
ES

MISSILE IMPACT RATING

NON-IMPACT

PRODUCT ABBREVIATION KEY
ABBREVIATION PRODUCT NAME

CS-EJ = Casement Window - EJ Frame
DB-FULL = Full Double Hung

PW-FULL = Full Picture Window
PWU-EJ = Univ. Picture Window - EJ Frame

GL-EJ = Gliding Window - EJ Frame
CS-BASE = Casement Window - Base Frame

DB-INSERT = Insert Double Hung
PWU-BASE = Univ. Picture Window - Base Frame
PW-INSERT = Insert Picture Window

GL-BASE = Gliding Window - Base Frame
DG -BASE = DOUBLE HUNG - BASE FRAME

DG -EJ = DOUBLE HUNG - EJ FRAME
DG -INSERT = DOUBLE HUNG - INSERT FRAME

TABLE OF CONTENTS
SHEET SHEET DESCRIPTION

1  GENERAL AND INSTALLATION NOTES
2  MULL ASSEMBLY SECTIONS (1)
3 MULL ASSEMBLY SECTIONS (2)
4 MULL ASSEMBLY SECTIONS (3)
5 INSTALLATION DETAILS
6 ONE-WAY LOAD TABLE: WOOD, METAL STUD, OR CONCRETE INSTALL.
7 ONE-WAY LOAD TABLE: HOLLOW BLOCK OR GROUT FILLED CMU INSTALL.
8 BOM & COMPONENTS

MULLING INSTRUCTIONS:

· STEP 1: ESTABLISH MULL ASSEMBLY FRAME TYPES AND
MULL CONFIGURATION.

· STEP 2: VERIFY MULL ASSEMBLY CONSTRUCTION FROM
SHEETS 2-4 (REFER TO ABBREVIATION TABLE ABOVE).

· STEP 3: DETERMINE ALLOWABLE LOAD OF MULL ASSEMBLY
FROM APPLICABLE LOAD TABLE, REFER TO SHEETS 6 & 7.

· STEP 4: INSTALL MULLION BASED ON APPLICABLE
SPECIFICATIONS & DETAILS SHOWN ON SHEET 5.

Digitally signed by Hermes F. Norero, P.E. 
Reason: I am approving this document 
Date: 2023.06.19 17:19:58 -04'00'



2
CS-EJ TO CS-EJ

VERITCAL OR HORIZONTAL MULL
A

2
DB-FULL TO DB-FULL

VERTICAL MULL
B

2
PWU-EJ TO CS-EJ
VERTICAL OR HORIZONTAL MULL

C

2
PWU-EJ TO PWU-EJ

VERTICAL OR HORIZONTAL MULL
D

2
PW-FULL TO DB-FULL

VERTICAL OR HORIZONTAL MULL
E

2
PW-FULL TO PW-FULL

VERTICAL OR HORIZONTAL MULL
F

2
GL-EJ TO CS-EJ

VERTICAL OR HORIZONTAL MULL
G

2
GL-EJ TO PWU-EJ
VERTICAL OR HORIZONTAL MULL

H
2

GL-EJ TO GL-EJ
VERTICAL MULL

I

9

1

1

#8 X 1-1/4" PH SCREWS,
6" FROM END &  20" O.C. MAX.
AT EA. SIDE

11

17

1

11

17

18

18

7

1

#8 X 1-1/4" PH SCREWS,
6" FROM END &  20" O.C. MAX.
AT EA. SIDE
USE EITHER ROW FOR EACH
FASTENER LOCATION

#8 X 1-1/2" PH SCREWS,
6" FROM END &  20" O.C. MAX.
AT EA. SIDE

#8 X 1-1/4" PH SCREWS,
6" FROM END &
20" MAX. O.C.

#8 X 1-1/2" PH SCREWS,
6" FROM END &
20" MAX. O.C. AT EA. SIDE

#8 X 2" PH SCREWS,
6" FROM END &
20" MAX. O.C.

#8 X 1-1/4" PH SCREWS,
6" FROM END & 20" MAX. O.C.
USE EITHER ROW FOR EACH FASTENER
LOCATION

#8 X 2" PH SCREWS,
6" FROM END &
20" MAX. O.C. AT EA. SIDE

#8 X 1-1/4" PH SCREWS,
6" FROM END & 20" O.C. MAX.
AT EA. SIDE

#8 X 1-1/4" PH SCREWS,
6" FROM END &
MAX. 20" O.C.

#8 X 1-1/2" PH SCREWS,
6" FROM END &
MAX. 20" O.C.

#8 X 1-1/4" PH SCREWS,
6" FROM END &
MAX. 20" O.C. AT EA. SIDE

1
1

1 1

1

13

20 21

13

20 21

9

7

15 15

15

11

17
18

24

#10 X 1-3/4" AT GLIDER
UNIT IN HORIZONTAL MULLS
ONLY. USE EA. PRE-DRILLED
HOLE.

#10 X 1-3/4" AT GLIDER
UNIT IN HORIZONTAL MULLS
ONLY. USE EA. PRE-DRILLED
HOLE.

24

24

2 2 2

2
2 2

2 2

2

4 4
4

4

4 4

4
4

4

SHEET:
DWG. #:

2
AWD142

   
BU

IL
DI

NG
 D

RO
PS

, I
NC

.
39

8 
E.

 D
AN

IA
 B

EA
CH

 B
LV

D.
, S

TE
. 3

38
DA

NI
A 

BE
AC

H,
 F

L 3
30

04
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

OF

SCALE: NTS
HR

DWG. BY:
DATE: 08.15.17

CHK. BY:
HFN

REMARKS

TI
TL

E:

BY DATE

THIS DOCUMENT IS THE PROPERTY OF BUILDING DROPS, INC.
AND SHALL NOT BE REPRODUCED IN WHOLE OR PART

WITHOUT WRITTEN CONSENT OF BUILDING DROPS, INC.
ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER

MARKINGS TO THIS DOCUMENT ARE NOT PERMITTED AND
INVALIDATE OUR CERTIFICATION.

RE
NE

W
AL

 b
y 

AN
DE

RS
EN

M
UL

LI
O

N 
SY

ST
EM

(N
O

N-
HV

HZ
)(N

O
N-

IM
PA

CT
)

3/
17

/2
02

3 
10

:4
7 

AM
s:\

pr
oj

ec
ts

\r
en

ew
al

 b
y 

an
de

rs
en

 o
f c

en
tr

al
 fl

or
id

a\
cc

-2
3-

03
11

 - 
co

de
 ch

an
ge

 - 
fb

c s
ub

m
itt

al
 (8

th
 e

di
tio

n)
 co

de
 ch

an
ge

\d
w

gs
\r

ev
isi

on
s\

fl1
99

71
\a

w
d1

42
.d

w
g

8

FL19971
FL #:

PR
EP

AR
ED

 B
Y:

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150   FX: (651) 264-5485

6TH FBC CODE CHANGE HR 8.15.17
ASSEMBLIES ADDITION HR 3.9.18
8TH FBC CODE CHANGE SH 3.17.23

M
UL

L A
SS

EM
BL

Y 
SE

CT
IO

NS
 (1

)



3
CS-BASE TO CS-BASE

VERTICAL OR HORIZONTAL MULL
A

3
PWU-BASE TO CS-BASE

VERTICAL OR HORIZONTAL MULL
B

3
GL-BASE TO CS-BASE

VERTICAL OR HORIZONTAL MULL
C

3
DB-INSERT TO DB-INSERT

VERTICAL MULL
D

3
 PW-INSERT TO DB-INSERT

VERTICAL OR HORIZONTAL MULL
E

3
PWU-BASE TO PWU-BASE

VERTICAL OR HORIZONTAL MULL
F

3
GL-BASE TO PWU-BASE

VERTICAL OR HORIZONTAL MULL
G

3
   PW-INSERT TO PW-INSERT

VERTICAL OR HORIZONTAL MULL
H

3
GL-BASE TO GL-BASE

VERTICAL MULL
I

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA.

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE
USE EITHER ROW FOR EACH
FASTENER LOCATION

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.
USE EITHER ROW FOR EACH
FASTENER LOCATION

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE

#8 X 1-1/2" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.

#8 X 1-1/2" PH SCREWS,
6" FROM END & MAX. 20" O.C.

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE

1 1

1

1

1

1

8

8

8
12

17

19

16

16

16

10 10

11

1

20

14

21 17

19

12

17

19

12

20

14

21

#8 X 1-1/2" PH SCREWS,
6" FROM END & MAX. 20" O.C.

24

#10 X 1-3/4" AT GLIDER
UNIT IN HORIZONTAL MULLS
ONLY. USE EA. PRE-DRILLED
HOLE.

24

#10 X 1-3/4" AT GLIDER
UNIT IN HORIZONTAL MULLS
ONLY. USE EA. PRE-DRILLED
HOLE. 24

2 2 2

2

2 2

3 3
3

3
3 3

3 3 3

5 5

5

SHEET:
DWG. #:

3
AWD142

   
BU

IL
DI

NG
 D

RO
PS

, I
NC

.
39

8 
E.

 D
AN

IA
 B

EA
CH

 B
LV

D.
, S

TE
. 3

38
DA

NI
A 

BE
AC

H,
 F

L 3
30

04
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

OF

SCALE: NTS
HR

DWG. BY:
DATE: 08.15.17

CHK. BY:
HFN

REMARKS

TI
TL

E:

BY DATE

THIS DOCUMENT IS THE PROPERTY OF BUILDING DROPS, INC.
AND SHALL NOT BE REPRODUCED IN WHOLE OR PART

WITHOUT WRITTEN CONSENT OF BUILDING DROPS, INC.
ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER

MARKINGS TO THIS DOCUMENT ARE NOT PERMITTED AND
INVALIDATE OUR CERTIFICATION.

RE
NE

W
AL

 b
y 

AN
DE

RS
EN

M
UL

LI
O

N 
SY

ST
EM

(N
O

N-
HV

HZ
)(N

O
N-

IM
PA

CT
)

3/
17

/2
02

3 
10

:4
7 

AM
s:\

pr
oj

ec
ts

\r
en

ew
al

 b
y 

an
de

rs
en

 o
f c

en
tr

al
 fl

or
id

a\
cc

-2
3-

03
11

 - 
co

de
 ch

an
ge

 - 
fb

c s
ub

m
itt

al
 (8

th
 e

di
tio

n)
 co

de
 ch

an
ge

\d
w

gs
\r

ev
isi

on
s\

fl1
99

71
\a

w
d1

42
.d

w
g

8

FL19971
FL #:

PR
EP

AR
ED

 B
Y:

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150   FX: (651) 264-5485

6TH FBC CODE CHANGE HR 8.15.17
ASSEMBLIES ADDITION HR 3.9.18
8TH FBC CODE CHANGE SH 3.17.23

M
UL

L A
SS

EM
BL

Y 
SE

CT
IO

NS
 (2

)



4
                   DG BASE FRAME TO CS-BASE FRAME

VERTICAL OR HORIZONTAL MULL
A

4
DG EJ FRAME TO CS-EJ

VERTICAL OR HORIZONTAL MULL
B

3
          DG BASE FRAME TO PWU-BASE

VERTICAL OR HORIZONTAL MULL
C

4
              DG INSERT FRAME TO DG FRAME

VERTICAL MULL
E

4
    DG EJ FRAME TO DG FRAME

VERTICAL MULL
F

4
     DG EJ FRAME TO PWU BASE

VERTICAL OR HORIZONTAL MULL
D

3 4

3

4 3
4

1

2

1

2
1

2

1

2

1

2

1

2

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE

8 8

12

17

19

12

17

19

25 25

25 25

25

25
25 25

#10 X 1-3/4" FH SCREWS,

#10 X 1-3/4" FH SCREWS,

#10 X 1-3/4" FH SCREWS,

#8 X 1-1/4" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE

#8 X 2.00" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE

#10 X 1-3/4" FH SCREWS,

#8 X 2.00" PH SCREWS,
6" FROM END & MAX. 20" O.C.
AT EA. SIDE

#10 X 1-3/4" FH SCREWS,
#10 X 1-3/4" FH SCREWS,

SHEET:
DWG. #:

4
AWD142

   
BU

IL
DI

NG
 D

RO
PS

, I
NC

.
39

8 
E.

 D
AN

IA
 B

EA
CH

 B
LV

D.
, S

TE
. 3

38
DA

NI
A 

BE
AC

H,
 F

L 3
30

04
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

OF

SCALE: NTS
HR

DWG. BY:
DATE: 08.15.17

CHK. BY:
HFN

REMARKS

TI
TL

E:

BY DATE

THIS DOCUMENT IS THE PROPERTY OF BUILDING DROPS, INC.
AND SHALL NOT BE REPRODUCED IN WHOLE OR PART

WITHOUT WRITTEN CONSENT OF BUILDING DROPS, INC.
ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER

MARKINGS TO THIS DOCUMENT ARE NOT PERMITTED AND
INVALIDATE OUR CERTIFICATION.

RE
NE

W
AL

 b
y 

AN
DE

RS
EN

M
UL

LI
O

N 
SY

ST
EM

(N
O

N-
HV

HZ
)(N

O
N-

IM
PA

CT
)

3/
17

/2
02

3 
10

:4
7 

AM
s:\

pr
oj

ec
ts

\r
en

ew
al

 b
y 

an
de

rs
en

 o
f c

en
tr

al
 fl

or
id

a\
cc

-2
3-

03
11

 - 
co

de
 ch

an
ge

 - 
fb

c s
ub

m
itt

al
 (8

th
 e

di
tio

n)
 co

de
 ch

an
ge

\d
w

gs
\r

ev
isi

on
s\

fl1
99

71
\a

w
d1

42
.d

w
g

8

FL19971
FL #:

PR
EP

AR
ED

 B
Y:

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150   FX: (651) 264-5485

6TH FBC CODE CHANGE HR 8.15.17
ASSEMBLIES ADDITION HR 3.9.18
8TH FBC CODE CHANGE SH 3.17.23

M
UL

L A
SS

EM
BL

Y 
SE

CT
IO

NS
 (3

)



5 3-1/4" MULLION

VERTICAL SECTION
GUSSET INSTALLATION - CONC./MASONRY

B
5 3-1/4" MULLION

VERTICAL SECTION
GUSSET INSTALLATION - METAL STUD

C

MINIMUM
EMBEDMENT (SEE
INSTALL. NOTE 6,
SHEET 1.)

        2 1/2" MIN.
EDGE DISTANCE

CONCRETE/MASONRY BY OTHERS
SEE INSTALL. NOTE 10, SHEET 1.

TWO (2) INSTALLATION ANCHORS
PER BRACKET (SEE INSTALL. NOTE

6, SHEET 1)

(4) #8 X 1/2" FH SCREWS
PER BRACKET

1

19

1

19

MINIMUM
EMBEDMENT (SEE
INSTALL. NOTE 5,
SHEET 1.)

1/2" MIN.
EDGE DISTANCE

METAL STUD BY OTHERS
SEE INSTALL. NOTE 10, SHEET 1.

FOUR (4) INSTALLATION ANCHORS
PER BRACKET (SEE INSTALL. NOTE

5, SHEET 1)

(4) #8 X 1/2" FH SCREWS
PER BRACKET

1

19

1

19

5 3-1/4" MULLION

VERTICAL SECTION
GUSSET INSTALLATION - WOOD

A

MINIMUM
EMBEDMENT (SEE
INSTALL. NOTE 4,
SHEET 1.)

      3/4" MIN.
EDGE DISTANCE

WOOD BY OTHERS
SEE INSTALL. NOTE 10, SHEET 1.

(4) INSTALLATION ANCHORS PER
BRACKET (SEE INSTALL. NOTE 4,

SHEET 1)

(4) #8 X 1/2" FH SCREWS
PER BRACKET

1

19

1

19

(4) INSTALLATION ANCHORS PER
BRACKET (SEE INSTALL. NOTE 4,

SHEET 1)

NOTE: 1X WOOD BUCK MAY BE
UTILIZED BETWEEN GUSSET CLIP &
CONCRETE/MASONRY. SHEET:

DWG. #:

5
AWD142

   
BU

IL
DI

NG
 D

RO
PS

, I
NC

.
39

8 
E.

 D
AN

IA
 B

EA
CH

 B
LV

D.
, S

TE
. 3

38
DA

NI
A 

BE
AC

H,
 F

L 3
30

04
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

OF

SCALE: NTS
HR

DWG. BY:
DATE: 08.15.17

CHK. BY:
HFN

REMARKS

TI
TL

E:

BY DATE

THIS DOCUMENT IS THE PROPERTY OF BUILDING DROPS, INC.
AND SHALL NOT BE REPRODUCED IN WHOLE OR PART

WITHOUT WRITTEN CONSENT OF BUILDING DROPS, INC.
ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER

MARKINGS TO THIS DOCUMENT ARE NOT PERMITTED AND
INVALIDATE OUR CERTIFICATION.

RE
NE

W
AL

 b
y 

AN
DE

RS
EN

M
UL

LI
O

N 
SY

ST
EM

(N
O

N-
HV

HZ
)(N

O
N-

IM
PA

CT
)

3/
17

/2
02

3 
10

:4
7 

AM
s:\

pr
oj

ec
ts

\r
en

ew
al

 b
y 

an
de

rs
en

 o
f c

en
tr

al
 fl

or
id

a\
cc

-2
3-

03
11

 - 
co

de
 ch

an
ge

 - 
fb

c s
ub

m
itt

al
 (8

th
 e

di
tio

n)
 co

de
 ch

an
ge

\d
w

gs
\r

ev
isi

on
s\

fl1
99

71
\a

w
d1

42
.d

w
g

8

FL19971
FL #:

PR
EP

AR
ED

 B
Y:

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150   FX: (651) 264-5485

6TH FBC CODE CHANGE HR 8.15.17
ASSEMBLIES ADDITION HR 3.9.18
8TH FBC CODE CHANGE SH 3.17.23

IN
ST

AL
LA

TI
ON

 D
ET

AI
LS



"B" "A"

W

L

"B"

"A"

W

L

NOTE:
1) MULLION CHART APPLIES TO RENEWAL MULLION ASSEMBLIES, WHEN MULLED IN ONE-WAY,

STACK OR RIBBON, CONFIGURATIONS.
2) DESIGN PRESSURE VALUES ARE POSITIVE AND NEGATIVE IN PSF.
3) MAXIMUM DEFLECTION HAS BEEN LIMITED TO L/175.
4) DESIGN PRESSURE OF ASSEMBLY IS LIMITED TO THE LESSER DESIGN PRESSURE OF THE MULLION

ASSEMBLY OR THE INDIVIDUAL UNIT OF INSTALLATION. ADJACENT WINDOWS SHALL BE UNDER
SEPARATE FL APPROVAL.

5) MULLION CHART APPLIES TO THE FOLLOWING INSTALLATION CONDITIONS:
GUSSET INSTALLATION TO WOOD, METAL STUD, OR CONCRETE
6) TRIBUTARY WIDTH = W = (A+B)/2
7) REFER TO SHEET 5 FOR INSTALLATION DETAILS.
8) WHEN WINDOWS ARE STACKED VERTICALLY, THE MANUFACTURER/INSTALLER SHALL ENSURE
THAT  THE WEIGHT OF UNITS ABOVE WILL NOT CAUSE DEFLECTIONS OR STRESSES WHICH WILL
AFFECT OPERATION OR STRUCTURAL ADEQUACY OF UNITS BELOW.

RENEWAL MULLION DESIGN PRESSURE CAPACITIES: FOR INSTALLATION INTO WOOD, METAL STUD, OR CONCRETE SUBSTRATES

MAXIMUM DESIGN PRESSURE CAPACITY CHART (PSF): WOOD/METAL STUD/CONCRETE INSTALLATIONS
L - Mull
Length

(in)

W - Tributary Width (in)

18.0 21.0 24.0 27.0 30.0 33.0 34.0 36.0 42.0 48.0 54.0 60.0 66.0 72.0
24.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0
30.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0
36.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0
42.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0
48.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 63.0 62.0 62.0 62.0 62.0 62.0
54.0 65.0 65.0 65.0 65.0 61.0 57.7 56.8 55.1 51.5 49.6 49.0 49.0 49.0 49.0
60.0 65.0 65.0 62.0 56.9 52.9 49.7 48.8 47.2 43.6 41.3 40.1 39.7 39.7 39.7
66.0 65.0 61.3 55.1 50.4 46.7 43.7 42.9 41.3 37.8 35.4 33.9 33.1 32.8 32.8
72.0 63.0 55.3 49.6 45.2 41.8 39.0 38.2 36.7 33.3 31.0 29.0 27.6 26.8 26.5
77.0 58.3 51.1 45.8 41.6 38.4 35.8 35.0 33.3 29.4 26.6 24.6 23.2 22.3 21.8
78.0 57.5 50.4 45.1 41.0 37.8 34.9 34.0 32.4 28.6 25.8 23.9 22.5 21.6 21.0
84.0 52.8 45.5 40.1 35.9 32.6 29.9 29.1 27.7 24.3 21.8 20.1 18.8 17.8 17.2
90.0 45.9 39.5 34.8 31.1 28.2 25.8 25.2 23.9 20.9 18.7 17.1 15.9 15.0 -
96.0 40.3 34.7 30.5 27.2 24.7 22.6 22.0 20.9 18.2 16.3 - - - -
102.0 35.6 30.6 26.9 24.1 21.8 19.9 19.4 18.4 16.0 - - - - -
108.0 31.7 27.3 24.0 21.4 19.4 17.7 17.2 16.3 - - - - - -
114.0 28.4 24.5 21.5 19.2 17.3 15.8 15.4 - - - - - - -
120.0 25.7 22.0 19.4 17.3 15.6 - - - - - - - - -

SHEET:
DWG. #:

6
AWD142

   
BU

IL
DI

NG
 D

RO
PS

, I
NC

.
39

8 
E.

 D
AN

IA
 B

EA
CH

 B
LV

D.
, S

TE
. 3

38
DA

NI
A 

BE
AC

H,
 F

L 3
30

04
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

OF

SCALE: NTS
HR

DWG. BY:
DATE: 08.15.17

CHK. BY:
HFN

REMARKS

TI
TL

E:

BY DATE

THIS DOCUMENT IS THE PROPERTY OF BUILDING DROPS, INC.
AND SHALL NOT BE REPRODUCED IN WHOLE OR PART

WITHOUT WRITTEN CONSENT OF BUILDING DROPS, INC.
ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER

MARKINGS TO THIS DOCUMENT ARE NOT PERMITTED AND
INVALIDATE OUR CERTIFICATION.

RE
NE

W
AL

 b
y 

AN
DE

RS
EN

M
UL

LI
O

N 
SY

ST
EM

(N
O

N-
HV

HZ
)(N

O
N-

IM
PA

CT
)

3/
17

/2
02

3 
10

:4
7 

AM
s:\

pr
oj

ec
ts

\r
en

ew
al

 b
y 

an
de

rs
en

 o
f c

en
tr

al
 fl

or
id

a\
cc

-2
3-

03
11

 - 
co

de
 ch

an
ge

 - 
fb

c s
ub

m
itt

al
 (8

th
 e

di
tio

n)
 co

de
 ch

an
ge

\d
w

gs
\r

ev
isi

on
s\

fl1
99

71
\a

w
d1

42
.d

w
g

8

FL19971
FL #:

PR
EP

AR
ED

 B
Y:

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150   FX: (651) 264-5485

6TH FBC CODE CHANGE HR 8.15.17
ASSEMBLIES ADDITION HR 3.9.18
8TH FBC CODE CHANGE SH 3.17.23

ON
E 

W
AY

 LO
AD

 T
AB

LE
: W

OO
D,

M
ET

AL
 S

TU
D,

 O
R 

CO
NC

RE
TE

 IN
ST

AL
L.



"B" "A"

W

L

"B"

"A"

W

L

RENEWAL MULLION DESIGN PRESSURE CAPACITIES: FOR INSTALLATION INTO HOLLOW BLOCK OR GROUT FILLED CMU

NOTE:
1) MULLION CHART APPLIES TO RENEWAL MULLION ASSEMBLIES, WHEN MULLED IN ONE-WAY,

STACK OR RIBBON, CONFIGURATIONS.
2) DESIGN PRESSURE VALUES ARE POSITIVE AND NEGATIVE IN PSF.
3) MAXIMUM DEFLECTION HAS BEEN LIMITED TO L/175.
4) DESIGN PRESSURE OF ASSEMBLY IS LIMITED TO THE LESSER DESIGN PRESSURE OF THE MULLION

ASSEMBLY OR THE INDIVIDUAL UNIT OF INSTALLATION. ADJACENT WINDOWS SHALL BE UNDER
SEPARATE FL APPROVAL.

5) MULLION CHART APPLIES TO THE FOLLOWING INSTALLATION CONDITIONS:
GUSSET INSTALLATION TO HOLLOW BLOCK OR GROUT FILLED CMU
6) TRIBUTARY WIDTH = W = (A+B)/2
7) REFER TO SHEET 5 FOR INSTALLATION DETAILS.
8) WHEN WINDOWS ARE STACKED VERTICALLY, THE MANUFACTURER/INSTALLER SHALL ENSURE
THAT  THE WEIGHT OF UNITS ABOVE WILL NOT CAUSE DEFLECTIONS OR STRESSES WHICH WILL
AFFECT OPERATION OR STRUCTURAL ADEQUACY OF UNITS BELOW.

MAXIMUM DESIGN PRESSURE CAPACITY CHART (PSF): HOLLOW BLOCK OR GROUT FILLED CMU INSTALLATIONS
L - Mull
Length

(in)

W - Tributary Width (in)

18.0 21.0 24.0 27.0 30.0 33.0 34.0 36.0 42.0 48.0 54.0 60.0 66.0 72.0
24.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0
30.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0
36.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0 65.0
42.0 65.0 65.0 62.0 58.0 55.1 53.0 52.5 51.7 50.6 50.6 50.6 50.6 50.6 50.6
48.0 63.6 56.7 51.7 47.9 45.1 42.9 42.4 41.3 39.4 38.8 38.8 38.8 38.8 38.8
54.0 55.1 48.9 44.3 40.8 38.2 36.1 35.5 34.4 32.2 31.0 30.6 30.6 30.6 30.6
60.0 48.6 42.9 38.8 35.6 33.1 31.1 30.5 29.5 27.3 25.8 25.1 24.8 24.8 24.8
66.0 43.5 38.3 34.4 31.5 29.2 27.3 26.8 25.8 23.6 22.1 21.2 20.7 20.5 20.5
72.0 39.4 34.6 31.0 28.3 26.1 24.4 23.9 23.0 20.8 19.4 18.4 17.7 17.3 17.2
77.0 36.5 32.0 28.6 26.0 24.0 22.4 21.9 21.0 19.0 17.5 16.5 15.8 15.4 15.1
78.0 35.9 31.5 28.2 25.6 23.6 22.0 21.5 20.7 18.6 17.2 16.2 15.5 15.0 -
84.0 33.1 28.9 25.8 23.5 21.6 20.0 19.6 18.8 16.9 15.5 - - - -
90.0 30.6 26.7 23.8 21.6 19.8 18.4 18.0 17.2 15.4 - - - - -
96.0 28.5 24.9 22.1 20.0 18.4 17.0 16.6 15.9 - - - - - -
102.0 26.7 23.2 20.7 18.7 17.1 15.8 15.4 - - - - - - -
108.0 25.1 21.8 19.4 17.5 16.0 - - - - - - - - -
114.0 23.6 20.5 18.2 16.5 15.0 - - - - - - - - -
120.0 22.3 19.4 17.2 15.5 - - - - - - - - - -

SHEET:
DWG. #:

7
AWD142

   
BU

IL
DI

NG
 D

RO
PS

, I
NC

.
39

8 
E.

 D
AN

IA
 B

EA
CH

 B
LV

D.
, S

TE
. 3

38
DA

NI
A 

BE
AC

H,
 F

L 3
30

04
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

OF

SCALE: NTS
HR

DWG. BY:
DATE: 08.15.17

CHK. BY:
HFN

REMARKS

TI
TL

E:

BY DATE

THIS DOCUMENT IS THE PROPERTY OF BUILDING DROPS, INC.
AND SHALL NOT BE REPRODUCED IN WHOLE OR PART

WITHOUT WRITTEN CONSENT OF BUILDING DROPS, INC.
ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER

MARKINGS TO THIS DOCUMENT ARE NOT PERMITTED AND
INVALIDATE OUR CERTIFICATION.

RE
NE

W
AL

 b
y 

AN
DE

RS
EN

M
UL

LI
O

N 
SY

ST
EM

(N
O

N-
HV

HZ
)(N

O
N-

IM
PA

CT
)

3/
17

/2
02

3 
10

:4
7 

AM
s:\

pr
oj

ec
ts

\r
en

ew
al

 b
y 

an
de

rs
en

 o
f c

en
tr

al
 fl

or
id

a\
cc

-2
3-

03
11

 - 
co

de
 ch

an
ge

 - 
fb

c s
ub

m
itt

al
 (8

th
 e

di
tio

n)
 co

de
 ch

an
ge

\d
w

gs
\r

ev
isi

on
s\

fl1
99

71
\a

w
d1

42
.d

w
g

8

FL19971
FL #:

PR
EP

AR
ED

 B
Y:

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150   FX: (651) 264-5485

6TH FBC CODE CHANGE HR 8.15.17
ASSEMBLIES ADDITION HR 3.9.18
8TH FBC CODE CHANGE SH 3.17.23

ON
E 

W
AY

 LO
AD

 T
AB

LE
: H

OL
LO

W
BL

OC
K 

OR
 G

RO
UT

 F
IL

LE
D 

CM
U



BILL OF MATERIALS
ITEM DESCRIPTION MATERIAL MANUFACTURER

1 3-1/4" REINFORCED MULLION FIBERGLASS ANDERSEN CORPORATION
2 EXTERIOR TRIM (FULL FRAME) FIBREX® ANDERSEN CORPORATION
3 INTERIOR TRIM (INSERT FRAME) PVC ANDERSEN CORPORATION

4 INTERIOR TRIM (VENEER & FULL
FRAME) WOOD ANDERSEN CORPORATION

5 EXTERIOR TRIM (INSERT
FRAME) FIBREX® ANDERSEN CORPORATION

6 NOT USED --- ---
7 CS-EJ FRAME FIBREX® ANDERSEN CORPORATION
8 CS-BASE FRAME FIBREX® ANDERSEN CORPORATION
9 DB-FULL FRAME FIBREX® ANDERSEN CORPORATION

10 DB-INSERT FRAME FIBREX® ANDERSEN CORPORATION
11 PWU-EJ FRAME FIBREX® ANDERSEN CORPORATION
12 PWU-BASE FRAME FIBREX® ANDERSEN CORPORATION
13 PW-FULL FRAME FIBREX® ANDERSEN CORPORATION
14 PW-INSERT FRAME FIBREX® ANDERSEN CORPORATION
15 GL-EJ FRAME FIBREX® ANDERSEN CORPORATION
16 GL-BASE FRAME FIBREX® ANDERSEN CORPORATION
17 PWU GLASS STOP FIBREX® ANDERSEN CORPORATION
18 PWU-EJ TRIM STOP FIBREX® ANDERSEN CORPORATION
19 PWU-BASE TRIM STOP FIBREX® ANDERSEN CORPORATION
20 PW GLASS STOP PVC ANDERSEN CORPORATION
21 PW STOP COVER FIBREX® ANDERSEN CORPORATION
22 ADAPTIVE GUSSET, HEAD 304 STAINLESS STEEL ANDERSEN CORPORATION
23 ADAPTIVE GUSSET, SILL 304 STAINLESS STEEL ANDERSEN CORPORATION
24 ADAPTIVE SPACER, UNIVERSAL INJECTION MOLDED PLASTIC ANDERSEN CORPORATION
25 DG - INSERT FRAME FIBREX® ANDERSEN CORPORATION
26 DG - BASE FRAME FIBREX® ANDERSEN CORPORATION
27 DG - EJ FRAME FIBREX® ANDERSEN CORPORATION

1 3-1/4" RENEWAL MULLION
FIBERGLASS

3.250"

2.200"

0.285"

0.500"

4 INT. TRIM (VENEER/FULL)
WOOD 5 EXT. TRIM (INSERT)

FIBREX

1.946"

0.356"

7 CS-EJ FRAME
FIBREX

8 CS-BASE FRAME
FIBREX 9 DB-FULL FRAME

FIBREX
10 DB-INSERT FRAME

FIBREX

4.000"

2.732"

4.000"

2.732"

4.641"

1.586"
1.586"

4.000"

11 PWU-EJ FRAME
FIBREX

4.000"

3.000"

4.631"

2.998"

4.000"

2.500"

4.000"

3.000"

12 PWU-BASE FRAME
FIBREX

13 PW-FULL FRAME
FIBREX 14 PW-INSERT FRAME

FIBREX 15 GL-EJ FRAME
FIBREX 16 GL-BASE FRAME

FIBREX

4.320"

1.993"

4.320"

1.993"

24 ADAPTIVE SPACER, UNIVERSAL
INJECTION MOLDED PLASTIC

1.683" 0.231"

22 ADAPTIVE GUSSET, HEAD
304 SS (12 GA.)

2.090"

3.795"

4.312"

23 ADAPTIVE GUSSET, SILL
304 SS (12 GA.)

3.795"

2.090"

4.312"

2 EXT. TRIM (FULL FRAME)
FIBREX 3 INT. TRIM (INSERT)

PVC

1.942"
1.231"

0.419"

0.427"

4.375"

1.625"

25 DG INSERT FRAME 
FIBREX

4.375"

1.625"

26 DG BASE FRAME 
FIBREX

4.375"

1.625"

27 DG EJ FRAME 
FIBREX

SHEET:
DWG. #:

8
AWD142

   
BU

IL
DI

NG
 D

RO
PS

, I
NC

.
39

8 
E.

 D
AN

IA
 B

EA
CH

 B
LV

D.
, S

TE
. 3

38
DA

NI
A 

BE
AC

H,
 F

L 3
30

04
PH

: (
95

4)
39

9-
84

78
FA

X:
 (9

54
)7

44
.4

73
8

W
EB

: w
w

w
.b

ui
ld

in
gd

ro
ps

.c
om

OF

SCALE: NTS
HR

DWG. BY:
DATE: 08.15.17

CHK. BY:
HFN

REMARKS

TI
TL

E:

BY DATE

THIS DOCUMENT IS THE PROPERTY OF BUILDING DROPS, INC.
AND SHALL NOT BE REPRODUCED IN WHOLE OR PART

WITHOUT WRITTEN CONSENT OF BUILDING DROPS, INC.
ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER

MARKINGS TO THIS DOCUMENT ARE NOT PERMITTED AND
INVALIDATE OUR CERTIFICATION.

RE
NE

W
AL

 b
y 

AN
DE

RS
EN

M
UL

LI
O

N 
SY

ST
EM

(N
O

N-
HV

HZ
)(N

O
N-

IM
PA

CT
)

3/
17

/2
02

3 
10

:4
7 

AM
s:\

pr
oj

ec
ts

\r
en

ew
al

 b
y 

an
de

rs
en

 o
f c

en
tr

al
 fl

or
id

a\
cc

-2
3-

03
11

 - 
co

de
 ch

an
ge

 - 
fb

c s
ub

m
itt

al
 (8

th
 e

di
tio

n)
 co

de
 ch

an
ge

\d
w

gs
\r

ev
isi

on
s\

fl1
99

71
\a

w
d1

42
.d

w
g

8

FL19971
FL #:

PR
EP

AR
ED

 B
Y:

100 FOURTH AVE NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150   FX: (651) 264-5485

6TH FBC CODE CHANGE HR 8.15.17
ASSEMBLIES ADDITION HR 3.9.18
8TH FBC CODE CHANGE SH 3.17.23

BO
M

 &
 C

OM
PO

NE
NT

S


